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1 y=X+¢

Which statement about this equation is true?

A the value of X is ¢ timeS the Value of ¥
B the value of Y is ¢ times the Value Of X

@The Value Of Y is ¢ more thah the Value Of X ‘/
D the Value Of X is ¢ more than the value of y %
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2  Mrs Monkeybrains had 3 bananas left at home.
She bought two more buhches of banahas and
now she has 15 banhanas. Which equation
represents this situation?
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3 ([Jse the pattern to identify the equation that
relates the humber Of squares ahd Stars.

A Squares = stars + 1 | )
B squares = stars + 3 X ©
C Stars = (2 X squares) - 2 > @
(D squares = @x stars) + 2 1544
L4 a0 5,8
I %’ll |'%%'| |'il?:7ﬁ":‘i’l"|
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4 Larry's Lawn Care Service charges $30 to meet
with you and discuss your lawn care needs, and $20
per hour when they work on your lawn. Which
expression best describes the cost of having Larry
take care of your lawn?

A B0x
B 50 + 20x

D 10x
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5 Which expression has the greater value when p = 8?

A 3p-p 3(3)-3= 0
B 8+2p FI3)-= oY

D 3p 3(3)=QVu
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6 Which equation is equivalent to the one shown?
1 -5

_ om

B 3x+5=11 il o T H@

x X i s

C 3x=-14 = o

D 3x+3=14 X — 5 = —||
X= HEEE g
X = ] -1=0
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7 Evaluate the expression 3b + 2

when b = -4

R
A 14 ;3("'{)*9
B 10 ST 3
C -14 — __‘O
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8 Lara is building triangles using popsicle sticks. She
says "the number of Popsicle sticks I use is double
the number of triangles I make plus one". Based on
Lara's statement, if Lara uses 137 Popsicle sticks,
how many triangles can she make?

A 305 PUpersiElg /
3 45

\: 4rigrgles
Atil=p A
D 136 At +\= (D]
A= 37
At~ 136
2k 130
G-

L 8
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9 What is the mass of a * ?

L\kg Wg Y\ ‘\k3
Yevelt U
8 Kg 12 kg

249y "\\%’- LH@ for stars.
15kors <o egchh Ik
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The table shows the relationship between the

to buy tickets.

number of 1 2 3 4
people (n)

Cost of
tickets (c) 6.99 13.98 20.97 27.96

humber of people (n).

t-9An- C

(Jse your equatioh to fihd out how many people
went to the movie if it cost $76.89.

n-= ||

number of people going to the movies and the cost

Write ah equation to show how Cost (C) is related to the

“ ‘)QOQ\Q wend ‘o Yhe mo\)\e-
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